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Reconstruction

3500

2500

2000

1500

1000

500

3000 |

_I 1 T T | T 1 T T |
L 50 GeV Pions
Geantd
[ WGAN |
"""" i
- 1 ]
- ]
: | | | | | L e e e = | :
0 1 2 3 4 6
nPFO

1000

800

600

400

200

50 GeV Pions J ]

- Entry in -
histogram:

| Sum of all i
PFOs 7

: Ll

0 50 60 70

PFO Energy [GeV]

1000

| 50 GeV Pions j
800 —
- Entry in
ol histogram: i
All PFOs -7
:—.I l
- : I__L_-__} I_
4001 | i I =
[ ! !
— |
- !
200} i -
|
O_I ﬁl-'_l.: i-_ L1 1 1 | | I I | | | I | __:I I|_|-
0 10 20 30 40 50 60 70

PFO Energy [GeV]



Data Generation for Peter

Now both energy and angle are uniformly distributed
* A bit technical manipulation was needed
» First, LCIO with MC particle collection only data (GEN)
> Then, run ddsim in iLCsoft with GEN information —» SIM
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: 2
Data Generation for Peter g 10
Leaking is around %2 for high energetic photons, for 30x30x50 box '
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Thank you
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